
Time: 2% Hrs. 

N. B. - (1) All Questions are Compulsory. 

Ql a) Select the appropriate word and rewrite. (Any 8) 

-026A6X63Y2626EóX63!Y 

:nN3i26261:6\63iy 

1. Direct benefit transfers are operated through 

Paper / Subject Code: 85607 / Economics Paper -II 

(2) Figures to right indicate full marks. 

2. Janani Suraksha Yojana is cohcerned with 

52250 

a) Literacy Promotion 

6X631Y2626E6X63:Y2626 

a) Jan Dhan Account b)Aadhar number c) Mobile Number d) All the three 

c)women entrepreneurship) 

Land r�forms lead to -maximum welfare ofthe 
a)Landlords b) Farmers 'c) Goverùment 

5. In smalfscale industry there is 
Efficiento a) Poor 
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6.The proce�sof facilitatiñg learning is 
a) Education b) Tourism 

a) RBI 
7. The insurance sector is regulated by 

b) IRDA 

8. Money market deals in 
a) Long erm 

4. To address queries of farmers, are operatiònal in varjous Indian states. 

9. Repo is an agreemènt. 

a) Repurchase, b) Resale 

b) rural population 

b)1988 

c) Skilled 

d) reduction of infant mortalityrate 

c) Health 

b) Medium Term c) Short term 

1: Poverty does not widen cquality. 

project planníng. 
d) Rich 

c).SEBI 

mòney transactions. 

c) Regular 

2. There is no unemployment in India. 

Total Marks: 75 

d) Conskmers 

d) Insurance 626t 

10. Security Exchange Board of India (SEBI) was set up in 
a)1990 c) 2000 
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d) Commercial Bank 

b) State whether the following slatements are True OR False (Any 7) 

d) ¤ll the above 

d) None of above 

626£6\ 

d) 2002 

3. Most of the small-scale units are working above full potentials. 

631266 

year. 

(8) Y2626toN 

(7) 
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a)kisan Call 'Centers b)Extension'services c)Mechani_afion d) Online services 
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4. The share of the industrial sector in Gross Domestic Product (GDP) has 
consistently increased. 
5. The service sector employs the maximum number of people. 
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6. Health care industry in India does not face any problem. 

i!2526D6N63!Y2 

7. FDI (Foreign Direct Invesiment) leads to incompetent business environiment. 
8. Screen based trading leads to improved operational efficiency in the secondary 

market. 

Q.2 a) What is income inequality? Explain the measures to reduce income ineqüality. 
b) Evaluate the institutional source of�gricultural finance. 

6X631Y2626E6X63IY2 

9. Commercial papcrs are issued by RBI. 
10. During recession, CRR is reduced by central bank. 

c) Discuss.thé land reförms introduced in India. 

Q.3 a) Examine the major problems faced by small scale industries of India. 
b) Briefly explain the featüres of the New Industrial policy 1991. 

d) Define Urbanisa�ion and describe the adverse effects of Urbanisation. 

OR 

c) Evaluate-the disinvestment programme in hdia. 
d) Discuss contribstion of PSUenterprisesin the development of Indian 

ecónomy. 

Q.4 a) Describe the changes in the composition of India's foreign trade. 

b) Critically examine �he role of MNCs in India. 
OR 

OR 

c) Explain the significance of service s�ctor in India. 

d) Discuss the important trends in healthcare industry. 

Q.5 a) Outline, the structure.of the Indian capital market. 

Q. 5 Write 

b) Discuss the objectives and instruments ofmonetary policy in India. 
OR 

26266K63:Y2626 6X6 
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Short Notes on (Any 3) 
)Agricu�ure marketing 
ii) Role of small-scale industries 
ii) BOP'position in India since 1991 

iv) Banking sector reforms 

v) SEBI 
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(8) 
(7) 

(8) 
(7) 

(8) 
(7) 

(8) 
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(7) 

(8) 
(7) 

(8) 
(7) 

(8) 
(7) 

(15) 
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